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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 25498941932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The is also called the web and it contains billions of documents.

Options :

1. ¥ World Wide Web

2. % HTTP

3. ® web portal

4. % domain

Question Number : 1 Question Id : 25498941932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

&1 1 3 Bed T 3R TUH 3RS SlegHcY (&) HivE 1 g
Options :
|. ¢ 90 9138 a9
2. % HTTP
3. % 3§ UCA
4. % SAA

Question Number : 2 Question Id : 25498941933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A is a computer attached to the Internet that runs a special web server software and can send web pages out to other computers
over the Internet.
Options :

1. ¥ web client
2. % web system
3. % web page
4. % web server

Question Number : 2 Question Id : 25498941933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TH A A ST HILR § off U ARy dF JoR AGeatR TaTdl g 3R $e-¢ IR 3T SR IR 99 U] Jol Yl 5|
Options :

1. % 99 FATSC

2. % 99 R

3. % 99 U

4. qG IR

Question Number : 3 Question Id : 25498941934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Deleted data remains on a disk until

Options :

1. ¥ the data is recovered

2. % the recycle bin is emptied

3. ® a file compression utility is used

4. ¥ the disk is scanned

Question Number : 3 Question Id : 25498941934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
f&cite fran gan Ser faxw o 9 d% s eaT § oid ad |
Options :
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1. % ST Abar 981 oY

2. ¢ RS faT @l 7 g og

3. % B3 HHITF P IS 9 81 Y
4. % fSH BT T T

Question Number : 4 Question Id : 25498941935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a spreadsheet, a statement that performs a calculation is called a(n)

Options :

1. ¥ formula

2. % reference

3. ¥ argument

4. % parameter

Question Number : 4 Question Id : 25498941935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

6 Ysc A TH AN HRATE IV BTl gl

Options :

1. ¢ e

2. % RB&d

3. % SmfHc

4. % WRfieR

Question Number : 5 Question Id : 25498941936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The information in a relational database is stored in a

Options :

1. * chart

2. % box

3. % folder

4. % table

Question Number : 5 Question Id : 25498941936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tl fra=ma Seray & € 18 SHaR! & Th # gufed fear ST 8|
Options :

1. % =7

2. % g

3. % IR

4. ¢ 94

Question Number : 6 Question Id : 25498941937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following would NOT be considered as a portable computer?

Options :

1. ¥ Desktop computer

2. ¥ Notebook computer

3. % Personal digital assistant

4. # Tablet

Question Number : 6 Question Id : 25498941937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0
ST Y D T O R & T H gl /T ST
Options :
1. ¥ SWHCI HECR
2. % Hlcgd HYR
3. % fGTd 3P Ygrd (T f$fiied sifte)
4. % <qale

Question Number : 7 Question Id : 25498941938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Data that is stored in RAM

Options :

1. % is non-volatile

2.+ is only there while the power is on

3. ¥ remains there only a few minutes after the power is off

4. % remains permanent and is not lost in power failure

Question Number : 7 Question Id : 25498941938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

el fm |fd RAM) A TSRFA ST |

Options :

1. % 3RRF

2. ¢ fSoTell =16 36 a0 RAM # ST Gl &

3. % fyorelt 48 BH & $© IHT db RAM | 1 381 §

4. % YT BIT § 91R UTaR &g g9 R Y T eI &

Question Number : 8 Question Id : 25498941939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From the given options, which is NOT a memory chip?

Options :

1. ¥ CMOS

2. ¥ RAM

3. ¥ ROM

4.+ ASCII

Question Number : 8 Question Id : 25498941939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

feu e fawedl § @ i o AUt fou i &2

Options :

1. ¥ CMOS

2. ¥ RAM

3. ¥ ROM

4. % ASCII

Question Number : 9 Question Id : 25498941940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who designed the first electronics computer-ENIAC?

Options :

1. ¥ Van-Neumann

2. % Joseph M. Jacquard

3. % J. Presper Eckert and John W Mauchly

4. % Presper Mauchly
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Question Number : 9 Question Id : 25498941940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ugdl SAae - e ENIAC fhae feseH fasar um

Options :

1. % -9 (Van-Neumann)

2. % SITH TH. SRS (Joseph M. Jacquard)

3.+ Of. TR Tadhc 3R Gﬁ@@lﬁaﬁ (J. Presper Eckert and John W Mauchly)
4. % TR HIFA (Presper Mauchly)

Question Number : 10 Question Id : 25498941941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which area in MS Excel window allows entering values and formulas?

Options :

1. ¥ Home tab

2. ¥ Insert tab

3. % Formula bar

4. ¥ Page layout tab

Question Number : 10 Question Id : 25498941941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Excelﬁ@ﬁﬁqm t%arﬂ:f Gﬁ“\fuo‘rﬁk-ﬂuﬁ@mﬁ%m%?

Options :

1. % gmcy

2. % gUC ¢

3. ¢ A SR

4. % UF ASIC ¢F

Question Number : 11 Question Id : 25498941942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

E-mail is:

Options :

1. ¥ mail concerning electronics devices

2. % transaction of letters, messages and memos by electronic means

3. # network transaction of messages within a single computer

4. % transaction of money

Question Number : 11 Question Id : 25498941942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2.0 (E-mail) FT 82

Options :

1. % ARG (Sargy @ Heifed dd

2. ¥ S ATl ¥ U, W 3R AH HT SHEH-UeH

3. % TP HHR & 3Hax YoRl BT "Acdd b gGRI GH-TEH

4. % U1 BT AT

Question Number : 12 Question Id : 25498941943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

E-mail are routed to different E-mail accounts through:

Options :

1. % aweb server

2. % an e-mail server
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3. % abrowser

4. % asearch engine

Question Number : 12 Question Id : 25498941943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafirs €A ardl o) $-39 frad Tem ¥ 99 91 82

Options :

1. % 99 R

2. ¢ A TR

3. % §I8oR

4. % g 3o

Question Number : 13 Question Id : 25498941944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2007 allows creation of _ type of document by default.

Options :

1. % .docx

2. % wpf

3. % xt

4. % dot

Question Number : 13 Question Id : 25498941944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2007 f&WTee 0 J THR & SIFgHe &1 &1 AT SaT ]

Options :

1. % .docx

2. % wpf
3. % xt
4. % dot

Question Number : 14 Question Id : 25498941945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a part of the central processing unit?

Options :

1. ®# Keyboard

2. % Printer

3. % ALU

4. % OMR

Question Number : 14 Question Id : 25498941945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafaiea & § &9 w1 Jed TRIRAT gfAe &1 482

Options :

1. % DS

2. % fix

3.% ALU

4. % OMR

Question Number : 15 Question Id : 25498941946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The command used to erase all the data on a disk is:

Options :
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1. ¥ FORMAT
2. ¥ ERASE
3. % REMOVE
4. ¥ DELETE

Question Number : 15 Question Id : 25498941946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

f&%p R Tt Se1 ! e o forg o &t o arell HHiS B &7

Options :

1. ¥ FORMAT

2. % ERASE

3. ¥ REMOVE

4. ¥ DELETE

Question Number : 16 Question Id : 25498941947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which option is NOT on the Insert Ribbon of MS Word 2010 ?

Options :

1. # Shapes

2. % Clip Art

3. ® Page Numbers

4. ¥ Thesaurus

Question Number : 16 Question Id : 25498941947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2010 ¥ ST e IR &1 I1 fasheq 81 82
Options :

1. % Qg

2. % faay amc

3. % U9 Aqd

4. JW(thcsaurus)

Question Number : 17 Question Id : 25498941948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

A(n) is a special visual and audio effect applied in PowerPoint to text or content.
Options :

1. ¥ animation

2. # flash

3. ® wipe

4. # dissolve

Question Number : 17 Question Id : 25498941948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS IR 27 3R SHifEa yuma 8 SR PowerPoint & TaRe a1 e A AR fhar g1
Options :
1. ¢ THERH
2. % TR
3. % gy
4. % fgTed

Question Number : 18 Question Id : 25498941949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Which file format is used to save Active Server Page script page?
Options :
1. % .aspx

.asp

.asps

.aspsp

- @3{

2
3.
4

Question Number : 18 Question Id : 25498941949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tfded ok Ust AP Y &1 TR & [T 1 | Wisd Bide BT IuanT 3 ST 82

Options :

1. ¥ aspx

.asp

.asps

.aspsp

% % 4

2
3.
4

Question Number : 19 Question Id : 25498941950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the key/key combination to delete one character to right?

Options :

1. ¥ CTRL+DELETE

2. % DELETE

3. # CTR+D

4. % CTRL+X

Question Number : 19 Question Id : 25498941950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS 3R UH &R & firem & farg droil/droft Tater &1 82

Options :

1. ¥ CTRL+DELETE

2. % DELETE

3. % CTRL+D

4. % CTRL+X

Question Number : 20 Question Id : 25498941951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many maximum number of lines a drop cap function can drop in a Word document?

Options :

1. %5

2. % 8

3.910

4, %3

Question Number : 20 Question Id : 25498941951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSP ST $HU R U I axIaw # Hfwa fha-t drg 318 (31) Tehdl 82

Options :

1.%35

2. %8

3.910

4. %3
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Question Number : 21 Question Id : 25498941952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following cards is basically the second generation multimedia card?

Options :

1. ¥ Secure Digital Card

2. % Mini SD Memory Card

3. % Smart Media Card

4. # Memory Card

Question Number : 21 Question Id : 25498941952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e & Q S 18 gl it @b s SFRRM) &1 Hee HITSaT BTS 82

Options :

1. ¢ RRIR f$fiea a8

2. % forl Tadt Ha w1

3. % WIC Hifsa o1

4. % HARI BTS

Question Number : 22 Question Id : 25498941953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is nibble?

Options :

1. ¥ Group of 4 bits

2. % Group of 8 bits

3. % Group of 16 bits

4. % Group of 32 bits

Question Number : 22 Question Id : 25498941953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

EERKCIES,
Options :

1. ¢ 4 fScq o1 IR
2. % gfocq H1ag
3. % 16 f[acg H1agg
4. % 32 focq H1 g

Question Number : 23 Question Id : 25498941954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a term used to describe storage systems that are designed with a blend of flash-based solid state disk and hard disk drives to
provide high performance at an affordable price.

Options :

1. ¥ Hybrid storage
2. % Personal storage
3. ¥ Public storage
4. % Object storage

Question Number : 23 Question Id : 25498941954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Xeg BT YUNT Tt TG YUTTel} T qUI A & forT TRyad foba Sira & o) wrerwr-snenfa gifers we few ok 31s foww
S13a & W9f01 % W1y FESe faman mar § a1fs 9 ) A $IAd R S &l UTed bt off T |

Options :

1. ¢ gIsfsis TUgu
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2. % fGRHTd GUGU
3. % el GG
4. % 3ffsslac GUGU

Question Number : 24 Question Id : 25498941955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a Pie Chart, which word is used to refer to the different parts of the chart?

Options :

1. ¥ Sector

2. % Piece

3. % Value

4. ¥ Section

Question Number : 24 Question Id : 25498941955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U A B, 3¢ & faftm yl &) defifa & foe e o § o 2ree 1 v fosan Smar g2
Options :

1. ¢ YR (Sector)

2. % U (Piece)

3. % Y (Value)

4. % Ya-M (Section)

Question Number : 25 Question Id : 25498941956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In MS Excel, to on the worksheet, select the cell that contains the name of the data series, type the new name and ENTER.
Options :

1. ¥ delete entries

2. % update entries

3.+ edit legend entries

4. % select entries

Question Number : 25 Question Id : 25498941956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafoiaa # § I forar HA & fore, 39 a0 &1 999 & e STeT & Y7all o1 14 M §, T 11 B 13U B aT MS Excel
7 gy (TeR) P2

Options :

1. * Sidiic Telkg

2. % 3U3T TR

3. ¢ TfSe Tois TRy

4. % Jade TeRYg

Question Number : 26 Question Id : 25498941957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following events is in the right order to ‘change the scale of horizontal axis in a chart’ in excel in MS Excel 2013?
Options :

1. % Click chart > Chart tools > Format > Current selection group > Format selection

2. % Click chart > Chart tools > Format > Format selection > Current selection group

3. # Click chart > Chart tools > Current selection group > Format selection > Format

4. % Click chart > Chart tools > Format selection> Current selection group > Format

Question Number : 26 Question Id : 25498941957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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frafeRed # 9 S T 9T, MS Excel 2013 H, <31¢ # &ftiol 3f&Rwa1 & GRHAT0 # uRacH (@ < Whd 3t gikeled Uy 39 3
TC) & ey H gl U H g2
Options :

1. % Click chart > Chart tools > Format > Current selection group > Format selection
2. ¥ Click chart > Chart tools > Format > Format selection > Current selection group
3. # Click chart > Chart tools > Current selection group > Format selection > Format

4. % Click chart > Chart tools > Format selection> Current selection group > Format

Question Number : 27 Question Id : 25498941958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For faster printing of graph/chart in excel:

Options :

1. ¥ change the print quality of the chart to draft quality

2. ¥ change the print quality of the chart to color quality

3. % resize your graph/chart

4. % edit your graph/chart

Question Number : 27 Question Id : 25498941958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR B /AT & X U1 & forT o A Bt STaRa e 87

Options :

1. ¢ 91 ST GRu1 [urad (e Hiferch) Hi SToe ore (STUe Sifereh) | gikafid &
2. % 9T¢ HI g1 urad] (e HIferdh) &1 I &1 e (HeR sifach) | uRafdd &Y
3. % YIH/ATE & HTHR Bl gaad

4. % YIG/ATE B! YU B3

Question Number : 28 Question Id : 25498941959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the information from an MS Excel object is embedded in MS Word, then information:

Options :

1. % can be deleted, if source file is modified.

2. % can be copied, if source file is modified.

3. #* can be updated, if source file is modified.

4. % remains same, if source file is modified.

Question Number : 28 Question Id : 25498941959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fHT MS Excel 3iTsoide T BRI MS Word H TfAfed &1 TS g o (BRI T 81 Jball 82
Options :

1. % g A BIgd P! YN far mar 7, d 39 fciie fooar s g g1

2. % e Gid BIgd ol TN fopar T g, Ot 1} foar S gebar g |

3. % 3UIe [HuT ol YopaT g, 3R Hid B Hl I fopar mar g1

4. ¢ TS GId B Bl TN fhar T 8, O dT g 8T g

Question Number : 29 Question Id : 25498941960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When someone gains access to a program, server and service using someone else's account or other methods, it is known as:
Options :

1. ¥ unauthorized access

2. ¥ legitimate access

3. % authorized access

4. % authentic access
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Question Number : 29 Question Id : 25498941960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

afe 1S fpelt 30 % TN T TANT B 31 fopit 3= fafty v, ek 3R Ja1 R Uga UTeed bRl € dl 39 FEISAI S|
Options :

1. ¢ 3AfIHd uga

2. % Y UgT

3. % 3ffiipd uga

4. % YO Ugd

Question Number : 30 Question Id : 25498941961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

File extensions are used in order to

Options :

1. ¥ encode the file

2. ¥ ensure the filename is not lost

3. ¥ identify the file type

4. % format the file

Question Number : 30 Question Id : 25498941961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

BId TRICTA HIIUANT & g fearsman g1
Options :

1. ® BRd B TADIS B

2. % I3d BT A1 Gl a1 9 I8 AT B

3. B3 & YHR DI UgdH dxA

4. % HISA Bl YRS (BIHE) HIA

Question Number : 31 Question Id : 25498941962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the printer garbage problem in the Inkjet printer?

Options :

1. ¥ Cartridges cannot be changed

2. # Installation of printer drive in wrong way

3. ®¥ Paper is jammed in the printer

4. % Selection of data is not possible

Question Number : 31 Question Id : 25498941962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o Miex T fifer FerT (TRaS) T 399 9 1 It 82
Options :

1. % PIfco Tg! gaal off Yhd

2. ¢ fliex S5 &1 TAd id Y SR

3. % flicx & HRTSl oI BT

4. % ST BT T GHT 7 g1

Question Number : 32 Question Id : 25498941963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3D printer was first developed by

Options :

1. # Bill Gates

2. ¥ Chales Babbage
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3. ¥ Steve Jobs
4. % Charles Hull

Question Number : 32 Question Id : 25498941963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3D fliex To ugd fobads gR1 fas Ry fasan mam uro
Options :

1. % fod ey

2. % I go

3. % W9 Srsg

4. ¢ I g

Question Number : 33 Question Id : 25498941967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Mac, the function keys may NOT work by default WITHOUT using the

Options :

1. % Shift key

2. ¥ Fn key

3. % Ctrl key

4. % Enter key

Question Number : 33 Question Id : 25498941967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mac H, R i 1 ITINT forT T 2 fEthiee &0 3 &1 78t = 9 g1

Options :

1. ¥ Shift key

2. % Fn key

3. % Ctrl key

4. % Enter key

Question Number : 34 Question Id : 25498941968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If we interchange the width and height of the Tabloid page size, then it results as

Options :

1. ¥ Ledger

2. ¥ Executive

3. ¥ Statement

4. % A4

Question Number : 34 Question Id : 25498941968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ife g1 CawiI3s Ul 3PR Bl dAISTs 3R Hdls & IR g Gedo ard s, diag HuRafddgiarg
Options :

1. ¢ TR

2. % TRilagfcd

3. % WcHe

4. % A4

Question Number : 35 Question Id : 25498941969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the different types of spacing?

Options :
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1. ¥ Line spacing and Letter spacing

2. ¥ Word spacing and Sentence spacing

3. % Word spacing and Letter spacing

4. ¥ Line spacing, Letter spacing, Word spacing and Sentence spacing

Question Number : 35 Question Id : 25498941969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafis v R ot Wi T 32

Options :

1. % 973 WRIT 3R oex Wik

2. % 98 WA ok You WRiT

3. % 98 WRIT SR dex Wik

4. TS WRIT, ex Wi, 98 WRiT ok I9 Wi

Question Number : 36 Question Id : 25498941970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While servicing the laser printer, which part of printer should you avoid touching because it is hot?

Options :

1. # Printer head

2. ¥ Fuser

3. ¥ Primary corona

4. ¥ Toner

Question Number : 36 Question Id : 25498941970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AR & SR AR fiier & o TR o1 7 819 & HRUT B & fere w1 fobam wimam 82
Options :

1. % fiicRge

2. VIR

3. % IS HRIAT

4. % AR

Question Number : 37 Question Id : 25498941971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which type of network gives highest redundancy?

Options :

1. % Star

2. # Hub and spoke

3. % Full-Mesh

4. % Bus

Question Number : 37 Question Id : 25498941971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

5T PR o1 e I Res=dl &1 ?
Options :

1. 8 &R

2. % B9 3R W

3. ¢ Ha-Ou

4. % 99

Question Number : 38 Question Id : 25498941972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0

Which of the following audio speakers will be hard to be driven by a power amplifier?
Options :

1. %120

2.% 40

3.%80Q

4. %20

Question Number : 38 Question Id : 25498941972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

9 o 1 sifea) T uraR THeliwraR gRT It far s 9w g

Options :

1. % 12Q

2.%4Q

3.%80Q

4.92Q

Question Number : 39 Question Id : 25498941976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is a developer of PivotTable used for data summarization in data visualization programs.
Options :
1. % Lotus
2. # Micromax
3. # Macintosh
4. % Microsoft

Question Number : 39 Question Id : 25498941976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST fageraEoe™ Wi § SeT URIARUN & forg JUTNT &1 9 arelt fiac drferedt o1 Ue STam g1
Options :
1. % &Y (Lotus)
2. % WﬁW(Micromax)
3. % M(Macintosh)
4. \'/W(Microsoft)

Question Number : 40 Question Id : 25498941977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lossless compression is a(n) compression technique.

Options :

1. # even

2. % odd

3. ¥ reversible

4. ® jrreversible

Question Number : 40 Question Id : 25498941977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

BIFRIRd HUS T e da 1 g |

Options :

1. % gd4

2. % 3ffg

3. ¢ Radisd

4. % Rikaded
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Question Number : 41 Question Id : 25498941978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Image histogram, shows

Options :

1. # frequency of image

2. # frequency of pixels intensity values

3. % dimension of image size

4. % number of rows in image

Question Number : 41 Question Id : 25498941978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ofdfexmm, s

Options :

1% S aghy

2. ¢ UG diddl 7 &t 31gftd

3. % I3 3TPR BT SHTH

4. % B3 7 dfckrdl &1 g

Question Number : 42 Question Id : 25498941979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following provides the secure access between the internal network and internet?

Options :

1. % Proxy server

2. ¥ Router

3. % Switches

4. % Hub

Question Number : 42 Question Id : 25498941979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SHTARD Fedd 3R Fex-c & st JRIEd Ugd S U™ Hdl g2

Options :

1. ¢ Tigdl gk

2. % 3R

3. %

4. % gqd

Question Number : 43 Question Id : 25498941982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If you print two copies of a three-page document and you choose to collate them then:

Options :

1. ¥ Pages print in this order: 1,2, 1, 2, 3, 3

2. ® pages print in this order: 1, 1,2, 2, 3,3

3. % pages print in this order: 1, 2,3, 1, 2, 3

4. % Pages print in this order: 1, 3,2, 1, 3, 2

Question Number : 43 Question Id : 25498941982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

mmm%%mﬁﬁm%m%mﬁm(collate)mﬁﬁmﬂqﬁ%a:
Options :

1. * gy oifedpa d gigdgin: 1,2, 1,2, 3,3

2. % gy mifea s giaasi: 1,1,2,2,3,3
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3. ¢ gy REifea pr A gfga i 1,2,3, 1,2, 3
4. % gy fmifed pa O gfada gt 1,3,2,1,3,2

Question Number : 44 Question Id : 25498941983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select 64-bit processor supporting OS from following options:

Options :

1. ¥ Windows 95

2. % Windows 98

3. ¥ Windows 2000

4. % Windows 7

Question Number : 44 Question Id : 25498941983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafeiaa fawedl & § 64-foc MR afdd os T

Options :

1. ¥ Windows 95

2. % Windows 98

3. ¥ Windows 2000

4. % Windows 7

Question Number : 45 Question Id : 25498941984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which shortcut combination provides Double space lines in MS Word?

Options :

1. % Ctrl+Drag

2. % CTRL+Space

3. % Alt+Click

4. ¥ CTRL+2

Question Number : 45 Question Id : 25498941984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word & ®1-9T Qe groit TAIoH aleX ™I ara ufaqat ve &l 82

Options :

1. ¥ Ctrl+Drag

2. % CTRL+Space

3. % Alt+Click

4. % CTRL+2

Question Number : 46 Question Id : 25498941994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After turning on a PC if monitor is NOT working then the problem could be:

Options :

1. ¥ The monitor is not turned OFF

2. % The monitor is plugged in

3. # The monitor is connected to the PC

4. % The monitor is not turned ON, or the monitor is not plugged in, or the monitor is not connected to the PC

Question Number : 46 Question Id : 25498941994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fe PC AT P P d1& AT HTH T PR 81 81l THWT T 81 Yabll 82

Options :
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1. % AR ¥ e 8
2. % AR WI-g 8
3. % AR AR A gergene
4.« TfeR T ST R, 1 AeR Wi 37 61 7, a1 ey et @ e 1t &

Question Number : 47 Question Id : 25498941995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The shortcut key combination used for copying selected text or object in MS office is:

Options :

1. ¥ Cul+X

2. % Ctul+Vv

3. % Cul+C

4. % Ctrl+D

Question Number : 47 Question Id : 25498941995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Office H TIMT UTS AT 3Hisside o1 URAfIl S & T IudiT &1 S aTer e Foft Haler 1 52

Options :

1. % Ctrl+X

2. % Ctrl+V

3.9 Cul+C

4. % Ctrl+D

Question Number : 48 Question Id : 25498941996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Unix, one can use the command to kill the process.

Options :

1. % die

2. ¥ kill

3. ® death

4. % stop

Question Number : 48 Question Id : 25498941996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Unix #, 313 +} U189 1 fobet 3 & forg FHHTS BT SUUN ol S Gavell 5 |

Options :

1. % die

2. % kill

3. % death

4. % stop

Question Number : 49 Question Id : 25498942001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a flash memory, the floating gate transistors have:

Options :

1. ¥ 2 Gates

2. % 5 Gates

3. # 4 Drains

4. % 3 Source

Question Number : 49 Question Id : 25498942001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Y IA § e e cifteer ® . S g
Options :
1. ¥ 27cH
2. % 57Cq
3.% 489
4. % 39

Question Number : 50 Question Id : 25498942003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The optical sensor in a barcode reader uses a:

Options :

1. ¥ resistance temperature detectors

2. % photodiode

3. ¥ Charge-Coupled Device (CCD)

4. ¥ rotating line camera

Question Number : 50 Question Id : 25498942003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TRDIS WS IUAN & Uged fore o7 arerl SPFA RIS 3l

Options :

1. % IR TR fSeaex (resistance temperature detectors)

2. ¢ BICIeAS (photodiode)

3. % Fo-BIIS ST (Charge-Coupled Device)

4, % efETamsA G2N| (rotating line camera)

Question Number : 51 Question Id : 25498942004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An example of videoconferencing can be seen in channels.

Options :

1. ¥ news

2. % podcast

3. % blog

4. % video

Question Number : 51 Question Id : 25498942004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

_ Tdl H ST HIIh R T 3TeRUT ¢/ o gl 7
Options :

1. ¢ GHFER

2. % JIghRe

3. % &

4. ® difsar

Question Number : 52 Question Id : 25498942005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT statement.

Options :

1. ¥ Streaming is used for broadcasting current events.

2. ¥ Streaming files is a way of delivering large content in pieces so playback can begin more quickly.

3. # Cloud computing provides large storage for maintaining libraries.

4. % Streaming cannot be used for showing TV and movies on your computer or cell phone.

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 19/32



10/25/21, 11:31 AM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 52 Question Id : 25498942005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 9 TAd HUT g |

Options :

1. % GAAM e YRd B & e T Iugi o o1 3|

2. % Al o T H 98 fawgasg &1 81 yri & faalka foar Sirdr § arfes wias ¢ifiie Sedt IR 81 9o |
3. % TIZORY TWRAMG & AU T3S ST Fa1 WSl AU Iueisd HRIAT g |

4. « T BT ITANT 3TIH SR 1 I B WR T 3R e faam & forg =1t foran o aahar 1

READING COMPREHENSION

Section Id : 2549894622
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894663
Question Shuffling Allowed : Yes

Question Id : 25498941988 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)
Laughter and Humour

Laughter is a way of showing happiness. We laugh only when we are really happy. Everyone loves to laugh. That is why funny films or
comedies are so popular. Is there any one, who does not enjoy jokes or anecdotes that make her/him laugh? There is hardly anyone who
does not like to laugh. Laughter acts like a health tonic for our body and mind. It refreshes and relaxes us. It lightens our minds by
removing stress and strain. It lessens our worry and makes us feel light. When our mind is free from all sorts of worries and tensions, we
enjoy good mental health. And good mental health contributes a lot to good physical health. That is why laughter is known as ‘the best
medicine’.

One of the well known advantages of laughter is that is helps us forget our sorrow and anger. Suppose, we are in an angry mood and
somebody tries to lighten the atmosphere by cracking a joke, we feel light. Humour and laughter which comes as part of a joke are bound
to have some effect on us. We stop sulking and find ourselves laughing. After a good laugh, nobody can continue to be angry. Laughter
makes a person forget his anger. It does the same to sorrow as well.

Shared laughter is one of the most effective tools for keeping relationships fresh and exciting. All emotional sharing builds strong and
lasting bonds of relationships. Shared laughter also adds joy and freshness. And humour is a powerful and effective way to heal
resentments, disagreements, and hurts. Laughter unites people during difficult times.

Incorporating more humour and laughter into your daily interactions can improve the quality of relationships as well as your connections
with fellow workers, family members and friends.

Sub questions

Question Number : 53 Question Id : 25498941989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to the passage, funny films are popular because

Options :

1. ¥ they are very interesting.

2. % they release our stress and tension.

3. ¥ they make their viewers laugh.

4. % they are in fashion these days.

Question Number : 54 Question Id : 25498941990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0
Laughter helps us to
Options :
1. ¥ feel relaxed
2. % feel energetic
3. ® make friends

4. % get more oxygen

Question Number : 55 Question Id : 25498941991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Laughter is a good exercise

Options :

1. ¥ for both body and mind.

2. % only for the mind.

3. * only for the body.

4. % for breathing.

Question Number : 56 Question Id : 25498941992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Good mental and physical health

Options :

1. * cannot go together

2. ¥ complement each other

3. # are difficult to achieve

4. % are only a state of mind

Question Number : 57 Question Id : 25498941993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

1. # laughter and humour remove anger and sorrow.

2. % Jaughter and humour in interactions can improve relationships.

3. # laughter and humour act as good tonic for health.

4. ¥ laughter and sorrow eventually make us sad.

Question Id : 25498941988 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)
g4 ek g

30, Gt fove b1 0o i1 21 51 5t G ofl g aad H g Bl | BR IS S TS el ¢ | Te BRYI 3 ' TeieR
e a1 8T 311 QIO § | 1 DI U1 ], S JePpdl AT SURSAT! BT T, Tl AT § Sl I8 e 9Tal 82 U s o 781 & o g
T g1 Rl § | ) TR IRR SR AT & foIw Ues Ty e &) ave & Bl 8 | 399 dTorT HEgd gl § SR g8 SR
feTdT 8 1 T8 T1d 3R YT DY eR B SHR fSHIT Y Geobl BT & | T8 §HRY il 1 hH Bl & 3R 81 gedbl HegqH el g
ST GART fEANT fefdn iR 9919 9 Gard BT &, A 89 3 ARG WA &1 Mg od 5 | 3R 3asT AR W &S RN
Wy & fo 9gd ave™ a1 § 1 I8! BRI ¢ [ &3 &) 9d9m gar AT e |

£ b TR-HA Brael § A U I8 © b g9 37 gE SR 1Y &) Y § Hag Bd § | HIF i, 81 U TR S He § & IR 318
ol ISTHR HH B B HITRAL HRT 7, A H Feob] HEYY HRd ¢ | 8R 3IR & Sl 7S & e & U H 31l 8, I8 FAR
SR TG YHTG STA 8 | §H TRISHT Ud TR GG b a9dl g3 UTd g | 3! g3 & a1e, H1s ot TR A 78 78 Tl ¢ | g1 afad &t
BT 1Y YT el &1 T8 g I forg ot It et 5|

Sl BT 1T G AHTaH TG BT TG ST qRID] ST B AT FRAT 8 | THt UGS A1eiahRul Yael o Toigd R IR de
§TaT B | T gt ot =it ofR arerh Siedt B R farig AR, SrgHfd, iR & & 3l R & forg uep wfaa=imelt 3R uuTat
TP 7| § AfRpd THT & SR AN Bl THE Bl g
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3O e HaTe! e TR TR ! A $HR- A Haell BT Juraar & YR g1 Favdl & a1 g1 91 At 4ffept, aRaR & dewt
3R Tl & 1Y 3P e +t §¢ Thd g

Sub questions

Question Number : 53 Question Id : 25498941989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3 3T P STAR Helieha e oo i gielt ¢ eriifep

Options :

1. % JAGR BN 5

2. % 3 I19 ad Bl g

3. ¥ 3 370 TR0 I g B

4. % J 3fSIhd BRAH G

Question Number : 54 Question Id : 25498941990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g HEH gerEd a6l
Options :

1. ¢ 3R HeqH B

2. % ZHoaM HEYH HRA

3. % GRd &M

4. % YD SRS U B

Question Number : 55 Question Id : 25498941991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TN UD DT 3R |

Options :

1. ¢ TRR 3R feAr a1 & forg

2. % Had feAm & forg

3. % PHad IR P foQ

4. % GG o & forg

Question Number : 56 Question Id : 25498941992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3BT HARYD 3R IRIRS Wy
Options :

1. % TP 1Y ! off b

2./ TH TN S MRS 7

3. % IRl BRAT Hi%bel 3

4. % Pad a9 BRI E

Question Number : 57 Question Id : 25498941993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafifed Syl § 3 o 9 T8l 82

Options :

1. % g0 SR S PIY 3R g Bl HH PR < B

2. % qIadid H g SR farie deftl &1 9gaR a1 9avd & |

3. % g4t ofR foriie WA & forw S/ efiMe & w0 & &1 e & |

4. I 3R g Sidd: g8 gl AT g

QUANTITATIVE APTITUDE

Section Id : 2549894623
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Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894664
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498941980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following expression?

350% of ? + 50 + 248 = 591
Options :
1. % 4900
2. % 4890
3. ® 4850
4. % 4950

Question Number : 58 Question Id : 25498941980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafafad oivie 3 uy 7% (2) & M R o1 W We s

? D1 350% + 50 + 248 = 591
Options :
1. ¥ 4900
2. % 4890
3. % 4850
4. % 4950

Question Number : 59 Question Id : 25498941981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What will come in place of question mark (?) in the following number series?

435, 354, 282, 219, 165, (?)
Options :
1. % 103
2. % 112
3.9120
4. % 130

Question Number : 59 Question Id : 25498941981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafafad For I § Uy 0% (2) & RIM TR SIF9 TReT 3MEi?

435, 354, 282, 219, 165, (?)
Options :
1. % 103
2. % 112
3.9120
4. % 130
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Question Number : 60 Question Id : 25498941997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sum of the ages of 4 members of a family 5 years ago was 94 vears. Today, when the daughter has been married off
and replaced by a daughter in law, the sum of their ages is 92. Assuming that there has been no other change in the
family structure and all the people are alive, what is the difference in the age of the daughter and the daughter-in-law?

Options :
A7 vanr
| v 22years

5 % 11 years
3 % 25 years

4 % 19 years

Question Number : 60 Question Id : 25498941997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

5 3§ Tg U TNER & 4 FEEA HI Y F AT 94 I oT| 3, IE F =g @ w3 37w
T TF &g A o T §, @ 3 g # AT 92 A 7 A A B ofer & armen # sk ww
Qﬁaﬁﬂaﬁgm%mmﬂaﬁrsﬂﬁ?ﬁﬁéﬁaﬂ?ﬁ#mﬁwmﬁ?

Options :
| v 22 Y

, % 11 39
5 % 25 a9
4 % 19 9§

Question Number : 61 Question Id : 25498941998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1f 25% of three-seventh of 26% of a number is 145.5, what is the number?

Options :

1. % 4987

2. % 5784

3. % 4741

4.+ 5223

Question Number : 61 Question Id : 25498941998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS BT P 26 TR b 3/7 I HIT BT 25 TR 145.5 B, T 98 T R 62

Options :

1. # 4987

2. % 5784

3. % 4741

4.9 5223

Question Number : 62 Question Id : 25498941999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Find the value of the question mark (?) in the following expression.
60% of 45% of 220 = ?% of 150
Options :
1. % 45
2. % 32
3. 9396
4. % 46.5

Question Number : 62 Question Id : 25498941999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Frafafea THieo 8 uy fomg (2) & RIF W 31 ST

220 BT 45% DHT 60% = 150 DT 2%
Options :

1. % 45

2. % 32

3.939.6

4. % 46.5

Question Number : 63 Question Id : 25498942000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Find the area of the circle inscribed in a rectangle having area 224 cm?® and one side 16 cm long.
Options :
| % 96 cm?

7 « 154 cm?
3 % 108 cm?

4 % 84 cm?

Question Number : 63 Question Id : 25498942000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

224 T FEAET SFHH I TH AT HT TF o 16 HEH §| T7 AT F T &1 Feod o Ao
I AT FL
Options :

| % 96 T WHRET
» v 154 ToT TEFHE
5 % 108 FE7 WA

4 % 84 T FEHART

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549894624
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Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894665
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498941965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words will come third if all of them are arranged alphabetically as in a dictionary?

Options :

1. * Nozzle

2. % Nausea

3. % Nostril

4. % Normal

Question Number : 64 Question Id : 25498941965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IR Vg 30 T €1 A Tt Rl B U Weadh I & SR qUIehy o SHafed f5ar oirar 8, aY o I TR &1 7 /1eg ST
Options :

1. # Nozzle

2. ¥ Nausea

3. % Nostril

4. ¥ Normal

Question Number : 65 Question Id : 25498941966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lumberjack is related to Axe in the same way as Chef is related to:

Options :

1. # Scalpel

2. ¥ Poker

3. ¥ Chisel

4. % Colander

Question Number : 65 Question Id : 25498941966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AH SR HT Heale! U dg! YaY § ol IG5 &l I8l
Options :

1. % gl

2. % Uiax

3.% B

4. ¥ PlASR

Question Number : 66 Question Id : 25498941975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Instruction: Study the following arrangement carefully to answer the question below.

MI1ESRB3AK7£#98UDIN46% FH2 @8 W
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Question: Three of the following four are alike in a certain way and so form a group, based on the above arrangement. Which is the one
that does NOT belong to that group?

Options :
1. % %HN
2.%148$
3. 00D £
4. % 3K$

Question Number : 66 Question Id : 25498941975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fufeRad caw & eryds ue 3ik 39% 19 i T uy 13w 3
MIESRB3AK7£#9SUDIN46%FH2@8W

SRIFT TG H IR & F o 37! fRUMA & 3R Rt FfEd adids 3 gam g | Fafifad & § o 1 99 ¥ e T8 8|
Options :

1. % %9HN

2.% 148

3.49D¢

4. % 3KS$

Question Number : 67 Question Id : 25498941985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Select the alternative with the most appropriate description about these three words.

Viper : krait : Mamba

Options :

1. ¥ These are boot polishes.

2. ¥ These are haunting spirits.

3. ¥ These are snakes.

4. % These are insects living in bushes.

Question Number : 67 Question Id : 25498941985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Wsal & Tay § Tay IId faavur aral fased &1 w9 3 |

IRWR : B : AT

Options :

1. % Y U 8|

2. % Y AT AT |

3. AGUEI

4. % Y feal ¥ X6 I PIS B

Question Number : 68 Question Id : 25498941986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Three words are given, which are related in some way. Select the option in which the three words are related in the same way.

Hair : Brush : Wig

Options :

1. % Iron : Hammer : Axe

2. ¥ Bread : Butter : Milk

3. ¥ Cement : Brick : Building
4. % Paper : Pen : Pencil
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Question Number : 68 Question Id : 25498941986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I 7 2ree few U § o U fafRy wvem 21 39 fash e &1 90 & forges i Weal H Sip It aRE &1 T g |

W:W:Wm
Options :

1. ¥ 5T : BUIST : Hegral
2. % 98 ORg : gY

3. % %ﬂ?é‘c'ua:r

4. % BN : HoH : Uy

Question Number : 69 Question Id : 25498941987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different.

Choose out the odd one.
Options :

1. # Collection

2. % Compilation

3. ¥ Cluster

4. % Assemblage

Question Number : 69 Question Id : 25498941987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Hi fapent # TR Teg fRT MU € o @ i o vpR T ter S §, Safes U 379 el 8 1 39 i Weg &) U &Y |

Options :
1. % I8
2. ® b
3. ¥ g
4. % IS

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

GENERAL AWARENESS

2549894625
5

Online
Mandatory
6

6

6

Yes

1
2549894666
Yes

Question Number : 70 Question Id : 25498941930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match List — I (District) with List — II (Rich source of) and select the correct answer by using the code given below the lists:

List—1 List—1I
A. Almora 1. Gypsum
B. Bikaner 2. Kyanite

C. Singhbhum 3. Magnesite

Options :
1.¥A-3,B-1,C-2
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2.% A-3,B-2,C-1
3.%A-2,B-1,C-3
4. % A-1,B-3,C-2

Question Number : 70 Question Id : 25498941930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It 1 (T & Ty G- 1 (RR HeR) IR Tt & A faT T BYs o1 T aeh Tgt IR BT 99 B
el -1 ol -11

ASEeT 1S
B. fi&™R 2. PIOARE
c.Rigym 3. 99Ee
Options :

.L¥YA-3,B-1,C-2
2.%A-3B-2,C-1
3.%A-2B-1,C-3
4. % A_1,B-3,C-2

Question Number : 71 Question Id : 25498941931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who has given the oath that the medical graduates are administered?

Options :

1. # Aristotle

2. * Theophrastus

3. % Hippocrates

4. % Darwin

Question Number : 71 Question Id : 25498941931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fofarea Hde! gRT o S arelt U favg= UgH &1 e
Options :

1. % 3RE]

2. ® ey

3. ¢ fguwishey

4. % 4T

Question Number : 72 Question Id : 25498941964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following states in India is estimated to have the largest coal reserves?

Options :

1. # Bihar

2. % Jharkhand

3. # Madhya Pradesh

4. ¥ Orissa

Question Number : 72 Question Id : 25498941964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

YR & {50 0 o TG 3T BT HT HSR EH BT THH 82

Options :

1. ® fagR

2. ¥ PRI

3. % HEIURRT
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4. % IS

Question Number : 73 Question Id : 25498941973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the metal contained in broken fluorescent bulbs, tube lights and dead batteries which gets transported with common municipal solid
waste and can be easily swallowed, inhaled or absorbed through the skin and can cause damage to the kidneys and nervous system.

Options :

1. ® Copper
2. ¥ Cadmium
3. % Mercury

4. ¥ Arsenic

Question Number : 73 Question Id : 25498941973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2 BU TRRRIT 9o, Sgaanae 3R Hd aeial & fRyd u1g &1 1 §ard fiyesT uRdg TTRUIIST &t i 319 81 SR E & 1Y
o ST § o for St & e, i & ST e SiR & & kT SRAT o Yahal § 94T 7 T[S Td AT (Adw) oIl &t 7y
FRAT R

Options :

1. % qfsr

2. % Heftrm

3. ¥ URT (AR

4. % RIS

Question Number : 74 Question Id : 25498941974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term ‘Chukker’ is used in:

Options :

1. * rifle shooting

2. % horse racing

3. #® wrestling

4. % polo

Question Number : 74 Question Id : 25498941974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eg “IIHY’ ford W H YT foam el 82

Options :

1. % S Yl

2. % eSS

3. % HEdl
4. Ul

Question Number : 75 Question Id : 25498942002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A fertile soil is likely to have a pH of:

Options :

1.%3

2.%9

3.996-7

4. % 14

Question Number : 75 Question Id : 25498942002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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UGS &1 &1 pH TTHT fad=1 81T a1fge?
Options :
1. %3
2.%9
3. 9967
4. % 14
Mock

Group Number : 2
Group Id : 2549892970
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No

English Mock
Section Id : 2549894626
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894667
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498942007 Question Type : TYPING TEST
Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,

socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children

have fun during this process as they get to explore new arenas.
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Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 0

Is this Group for Examiner? : No
English Typing Test

Section Id : 2549894627

Section Number : 1

Section type : Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 2549894668

Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498942006 Question Type : TYPING TEST

The happiest people are not the ones with the most money, friends, attention or love. The happiest people are the ones who practice
gratitude and focus on loving life consistently. If you want to be happy, look out for things that you need to appreciate and be
grateful for. Once you begin this practice, you will find many things that you need to be happy about. The more you try to focus on
the positive things, the more happy you will be. The good thing about happiness is that it is never overrated. There is no better
emotion that you can feel other than happiness. So, you should always try to be happy, no matter what comes your way. Listed
below are some of the major reasons why every person needs to be happy right now. You are loved. In case you are searching for a
reason to be happy, this is definitely one of the key reasons to focus on. No matter how hard you find life to be, there is always at
least one person who showers love on you unconditionally. There are people in this world who love and believe in you. So,
whenever you feel sad, think about those important people and you will surely be happy. The unpredictability of life. Life very
unpredictable and this is the beauty of it. Tomorrow you may wake to a promotion at your workplace or you may have a terminal
illness. So, you do not know what tomorrow holds. In such a scenario, it is always better to enjoy life today and be happy.
Optimism. When we become happy, we turn out to be optimistic. You will have an improved quality of thoughts. Not only will you
be able to see the brighter side of life but you will also be in a better position to embrace it. You will no longer be haunted by
negative thoughts. If you are looking for success, it is very important to ensure that you remain optimistic. This is actually the
correct mental attitude that will help you to develop and live a happy life. Improve your problem solving ability. The correct
attitude will determine how you view life. When you have the right attitude, you will be in a better position to see the solution
instead of the problem. You will easily take on a challenge and overcome it. One of the key skills is your ability to solve problems. If
you choose to remain happy, you will be able to see the advantage in every problem. You will learn how to turn things around to
your advantage. Improves productivity. When you are happy, you become more productive and efficient. While this is not easy to
notice, happiness will improve your mental capacity and provide you with the energy that will help you to complete your tasks.
With the right mindset, you will get a good output for every activity that you engage in. So, if you want to be more productive and
successful in life, just try to be happy every day.
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